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GOOD MORNING EVERYONE!

Let us write the phrase structurce rules that we took:

1.S—> NP VP

9. NP — Det N' (The new version)
.NP - NP PP

.NP — A NP

.NP - NP’s N'

.N'=> Ad N

| 7.N'—> N

‘ 8. VP - V

9.VP > VNP

10. VP - VPP

11. VP> VCP

12.CP—>CS

18.PP - PNP

14. NP — N

*They are not written in the same order you studied.
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Note:

NP’s — Det N'

NP’s —» NP PP

In the previous lecture, these two rules were wrilten as
rules 18 and 14, but Mrs. Rana said that these two are the
same as rules 2 and 8 but with “s'. So, they are Not

considered new rules. ]
What is the function of phrase structure rules?
We said that we use the phrase structure rules to

;  idenuly the categories of each sentence and to know the

’..9!' relationship between its elements or constituents.
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Heads and complements

In cach noun phrase or verh phrase, we have a head and a
complement. The function of complements 1s (o modily the
heads and (o add extra information about them.

= An agreement over Jilly beans

This 1s a noun phrase.

agreement: head.

over Jilly beans: the complement of the head.

What is the kind of this complement?

It is a noun complement because the head is a noun.
What is the kind of this noun complement?

It1s a prepositional phrase.

= His belief that justice will prevail

This is also a noun phrase.

belief head.

that justice will prevait complement.

What is the kind of this complement?

It is a noun complement.

What is the kind of this noun complement?

Itis a complementiser phrase.

*Be careful not to get confused between complementiser
phrase and complement.

= Happy to be here

This is an adjective phrase.

Happy: head.

to be here: complement.

What is the kind of this complement?

It is an adjective complement because the head is an
adjectve.

What is the kind of this adjective complement?

It is an infinitive phrase.
\
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= About the war in Iraq
They are talking here about
focusing on this phrasc. “About

“(the war” is a noun phrasc.

war: head.

m Iraq. complement.

It is 2 noun complement, and this no
prepositional phrase.

Note: when we analyze a sentence syntactically, we say that
“About” is the head of the prepositional phrase, but here it
is just considered as something cxtra because here we are
ONLY talking about the head (the main idea) and the
complement (extra information about the head) in this
particular phrase; we are not talking about syntactic analysis
and phrase structure rules.

. IS sy X
“he war in Iraq.” We are jus
” here Is just a pre-modifier,

un complement is a

= Wrote a long story to his sister

This 1s a verb phrase.

Wrote: head.

a long story to his sister: complement.

It is a verb complement because the head is a verb, and
this verb complement includes two phrases:

a long story: noun phrase.

to lus sister: prepositional phrase.

& Tell John that his mother is coming

This 1s a verb phrase.

Telf head.

John that his mother is coming: complement.

It is a verb complement, and this verb complement
includes two phrases:

Jolur: noun phrase.

that lus mother is coming: complementiser phrase.
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Selection

For example, il I have the verb wrote, how am I going (o
know what to have alter it I can know Irom the property of
the verb i.c. Is it transilive or is it mtransitve?

The verb nrote is transitive; therefore, we need an object.

So, the property ol the head or the verb determines what

comes after.
If 1 say, for example, the verb- skept, T know [rom the
property of this verb that there is no complement after it.
E.g. I slept.

. Give = transitive verb

It takes two objects: one is direct and the other is indirect.

Talking about syntax, we can have alter this verb two noun
phrases or a noun phrase and a prepositional phrase.

E.g. the teacher gave the students the exarn papers. (NP
NP)

E.g. the teacher gave the exam papers (o the students. (NP
PP)

- Think = transitive verb

What kind of modifiers do we have?

We have either a complementiser phrase or a
prepositional phrase.

E.g. John thinks that it is easy. (CP)

E.g. John thinks about his fiome work. (PP)

In terms of syntax, we call this C-Selection (categorial
selection) or we can say subcategorization.

- Felt = transitive verb
What are the categories after the verb fe/f?

We have an adjective.
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L.g. /el tived
Also, I can include a complementiser phrase after it.
Lig. 11l tha T am vired.

Lets take an example other than verbs:

- Tired = adjective

For C-Selection, the adjective ured selects a prepositional
phrase.

L.g. Iam tred of this lecture.

= The rock murdered the man

This sentence is grammatically and syntactically correct; it
has a subject, a verb and an object. However, it is
semantcally wrong.

In semantics, when we say the verb murder, you will think
in your mind about humans. The subject is a human, and
the object is also a human. This is called S-Selection
(semantic selection).

So, we say that this sentence violates S-Selection.

When we analyze any sentence, we should take mto
consideration both C-Selection and S-Selection.

X The tree likes the boy
This sentence also violates S-Selection because the verb

like needs humans.
3 3k 3 ok 5k 3k %k %k % %k

Now, we will go back to something related to phrase
structure rules.
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- The boy saw the man with the telescope
Hug sentence is ambiguous; it has two meanings.

The_fust meaning: the boy saw the man by using a

tclescope-
Jts syntactic analysis:

S
A
NP . VP
B N T T —
Det N VP PP
The boy V NP P NP
saw Drr N with Det N
| | |
the man the telescope

Here, the verb phrase consists of a verb phrase and a
prepositional phrase.

The prepositional phrase “with the telescope” 1s a
complement that modifies the verb “saw.” So, we notice
that it is included with the verb phrase.

The second meaning: the boy saw the man who was
carrying a telescope.
Its syntactic analysis:

S
S e S S —
NP VP
/\ .___‘_.—-""\\
Det N \ll' NP
F | | o
: The boy saw /Nf’\ }i_\
| Der N P NP
} | | | —_
| the man with Dlet hll
the telescope
e e A AN
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Here, the verb phrase consists ol a verb and a noyy
phrase.

e e . 5 N P /TN

[he prepositional phrase “with  the (clescope”™ is g
. g~ i o & s » O
complement that modilies the noun phrase “the man.” So,

we notice that it is included with the noun phrasc.

As you can sce, the syntactic analysis differs depending on
the meaning of the sentence.

Next lecture, we will analyze more ambiguous sentences.

That is all for today

See you next week
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